obogogsoowodooogoud

gooo gooooosoowdoouooood
goog guobuooooooooo
0od 300.00/00
oo gogo:d

O O :cheersonic

U O :cs-tr
gogg godoouoouoouood
gooo 86 0571 87910406 15267080152
O00dn

cheersonic0 000000000000 DOO0OO0OO0ODDOO0OOOODDLOO0OODOOODDOO0ODODOOO
gobbobbbuodgogobboobbddooo, bbb bobbboooooonboon
gad

gooboobbidood—>0bbuooooobbbbbuooooseonoooboon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guodobbbbgooooooobood

guouobbogoogooobooooobbbboooobbbboooooobon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guoooobbbogoooooooo* ooooo» b tooooo» bbuooooooo

guoouo* bgooooooboog” ogoooboob* oooobobobo ooooboon
goboobbooog* oo bbobbodoooobboobboooad

goooboobooo bboo,;ooo,boo;ub,;oo bbb, oooL,oooad

1. Jgobboboobboodgoooboobobboooooobboobboooooobobooon
gobbobobobooooooobbobbbodoogoobbobbbooooobbbbboooog
gobbobbboooodobbobbbooooooobo



2. 0Odo

guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
guduobobbtbgoouobbuoooobbbbouoooobooobon

 JbobbbobbodooooobbbbboooouobbbbbooooobDobon_LDboobo
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gooon

4 DU0ooooobobbouoooobobobouooooa

OO0Oo00
oo
oood
00 ooo oood ooog| OO0 00 oood
il
(O Omm) |O0Opes [(O0O0O3khz) (w) (O w)
l
cs15-h70-z4 m20x 1.5 70 4 15 15 2600
cs15-h60-z4 m20x 1.5 60 4 15 15 2200
cs15-h60-z6 m20x 1.5 60 6 15 15 2600
cs15-h50-z4 m18x 1.5 50 4 15 15 1500
cs15-h40-z4 m16x 1 40 4 15 15 700
cs15-h70-d4 m20x 1.5 70 ul 15 15 2600
cs15-h60-d4 m18x 1.5 60 4 15 15 2200
cs15-h60-d4 1/2-20unf 60 6 15 15 2600
cs15-h50-d4 1/2-20unf 50 6 15 15 2000
cs28-h38-z2 1/2-20unf 38 2 28 30 500
cs28-h38-z4 1/2-20unf 38 4 28 30 800
s28-h30-22 3/8-24unf 30 2 28 30 400
cs28-h25-22 m8x 1 25 2 28 35 300
cs28-h25-z4 m8x 1 25 4 28 30 400
cs30-h30-z4 m10 30 ul 30 30 700
cs30-h30-22 m10 30 2 30 30 400
cs30-h30-d4 m8x 1 30 4 30 20 800
cs30-h30-12 m10 30 2 30 25 500
cs20-h55-z4 m18x 1 55 4 20 15 2000




cs20-h50-z6 m18x 1.5 50 6 20 15 2000
cs20-h50-z4 m18x 1.5 50 ul 20 15 1500
cs20-h50-z2 m18x 1.5 50 2 20 20 800
cs20-h40-z4 1/2-20unf 40 4 20 15 900
cs20-h40-z2 1/2-20unf 40 2 20 25 500
cs20-h50-ds4 1/2-20unf 50 4 20 15 1300
cs20-h50-d4 1/2-20unf 50 4 20 15 1500
cs20-h50-d6 1/2-20unf 50 6 20 15 2000
cs20-h40-d6 1/2-20unf 40 6 20 15 1500
cs20-h40-d4 1/2-20unf 40 4 20 15 900
cs20-h30-d6 3/8-24unf 30 6 20 15 600
cs20-h50-14 m16 50 4 20 12 2000
cs20-h50-12 m16 50 2 20 15 1200
cs20-h50-p4 m18x 1.5 50 ul 20 15 1500
cs20-h50-p2 m18x 1.5 50 2 20 20 900
cs20-h40-p4 1/2-20unf 40 4 20 15 1000
cs20-h40-pg4 1/2-20unf 40 4 20 15 1200
cs35-h30-22 m10x 1 30 2 35 35 500
cs35-h30-z4 m8x 1 30 ul 35 35 800
cs35-h25-22 3/8-24unf 25 2 35 35 400
cs35-h35-d4 m8x 1 35 4 35 25 600
cs35-h35-d2 m8x 1 35 2 35 20 1000
csz35-h30-d4 1/2-20unf 30 4 35 20 800
cs35-h25-d4 m8 25 4 35 25 500
cs40-h25-z2 m10 25 2 40 40 500
cs40-h30-z4 m8 30 4 40 30 1000
cs40-h30-d2 m8 30 2 40 30 500
cs40-h25-d4 m8 25 ul 40 30 500
cs40-h25-d2 m8 25 2 40 35 400
cs40-h20-d2 m8 20 2 40 40 300
cs50-h30-z4 m8 30 ul 50 30 600
cs60-h15-22 méx 0.75 15 2 60 60 100
cs70-h10-z2 m4 10 2 70 200 100

gogoboobbodoooobbbugooobobbboooooobbboooooon
goobooo



guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobboobobbodooooobobobbodooooboobbboooooonbobobbooa
guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobbobbbooogooobobbodoo oo oboobbboooooonbobobbooo
goduobobbboooduobobobooooubb oooobobobuoooobbobuouoo
O0000boooboobboob0obobooboobobddcheersonic 0o

lL.a0l0OD0O0O0O0O0 gubbbObO0O0ooooobbbbbooooouobe,
alUbobobooooooobobobh guuobobbbbbodooooobobobobobood
. aliggoonooon

gUbOOOOO0O0Ooooobobobbobooooaon

4. 00000 0ogonbooboboood
qub obuodooouobobouooooboobus. abbbgooooon

U UbOgooouobobbuoooooboobood
6.alUl0ODODODODOO0
qguuooopo3uoboobbooooooobbbbogo

O000000CS-TRUUODDOUODDODOODDUOO Cheersonicl OO0 OO0 OODDOOOOO
gooobooo


http://www.tcpdf.org

